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2AMd: 2322
A BU=TE
e Zettl=gs 243 X (cho &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
42 E 150,000& * 12& 1,800
- ARAAN 200,000& = 123 2,400
-St 2 RE 60,000& = 12& 720
- AR2gH 40,000& = 123 480
B2 XN 2 |4 372,740 0 372,740
< 10,000
Al 362,740
307 21201 A 215,850 0 215,850
< 10,000
Al 205,850
02 It S AIHE L 70,388 0 70,388
OH#H=st2 mMgas AR 50,388
OHHMEZstd M 2 X2 A 20,000
= 10,000
Al 10,000
03 QIZtHNHE2HEHEX 145,462 0 145,462
OH#=sta 294 X 145,462
401 Al HIZ 201 Y] 153,390 0 153,390
01 A& HI 150,000 0 150,000
OLZ: A4 SNES> AALEHESY 150,000
02 Zeltl 3,390 0 3,390
Ok= N4 RlNE= 2ANELHESH Zeldl
150,000,000& * 2.26% 3,390
402 RIZ2EXt20l 3,500 0 3,500
01 QU2 X2 AP B 2 (REHIXH &) 3,500 0 3,500
Ot EZ st L) 2 XA 3,500
e zstol & 29 68,000 68,000 0
307 gl2tol & 68,000 68,000 0
05 BIZHRI & 3 68,000 68,000 0
OtiH=ste & 29 68,000
S8 Za0lEF A 292,900 247,000 45,900
J| 202,422
< 18,096
Al 72,382
307 gl & 292,900 247,000 45,900
J| 202,422
< 18,096
Al 72,382
02 It M AHEE 292,900 247,000 45,900
OSg 2308 b= H 292,900
J| 202,422
< 18,096
Al 72,382
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222 A3 OHLIMIOI&E A 15,400 22,000 AN 6,600
= 6,160
Al 9,240
307 2Iz2t0| A 15,400 22,000 AN6,600
< 6.160
Al 9,240
02 QIZHEAAIRE E X 15,400 22,000 AN6,600
OX&o A3 oHLioiolE M= 15,400
< 6,160
Al 9,240
202 29 2 22 8,729 8,849 A 120
201 LBt | 8,729 8,849 A 120
01 AP 22| d| 1,019 1,139 A 120
O&20s2 29 HE ¢
50,000& = 1204 & 600
O&%LI| Xt 34,9008 * 1204 & 419
02 32%H| 7,710 7,710 0
OZ2222 ¥ HA 3,510
ocHMIIQS(MOFMD| e ZEH)
250,0008 » 1204 <& 3,000
olMBlEE 22 30,0008 » 1204 & 360
odBlE HASZ 150,000 = 13| 150
OR0HHAIAE S22
100,000 = 1200 € 1,200
OA&E =82 X Y| 3,000
EHHAIS SIS X & 3,004,413 20,000 2,984,413
& 37,000
Al 2,967,413
306 52 3,004,413 20,000 2,984,413
& 37,000
Al 2,967,413
01 s 32 3,004,413 20,000 2,984,413
OAl=10 gAY 20,000
OEHEHAI23 S 29X S 2,984,413
= 37,000
Al 2,947,413
Sy URaXe Mol s Mol 23 22X X 80,000 0 80,000
ALY
201 et 9| 80,000 0 80,000
03 S AF2 H 80,000 0 80,000
OMES Mol SYHANS 268 AT =23 Z2A 80,000
HERS E&2 & M5 460,572 923,584 AN463,012
= 242,000
& 81,200
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202 04l 972 1,134 A 162
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MMBST ALY 190,000 205,000 A 15,000
= 76,000
< 34,200
Al 79,800
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= 76,000
< 34,200
Al 79,800
03 &AL Z I 190,000 205,000 A 15,000
O3 ALY 190,000
ostAl 2ZES HOF Mt MMHE 100,000
= 40,000
< 18,000
Al 42,000
oM 22 MSO0IX 90,000
= 36,000
S 16,200
Al 37,800
2VNF(SE)2sM E+=FHl 260,000 470,000 A210,000
= 166,000
< 47,000
Al 47,000
401 Al HI R 201 I 260,000 470,000 210,000
= 166,000
< 47,000
Al 47,000
01 A& 8l 249,000 459,000 A 210,000
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Mo BN IE
el BB Y2 Y 8 CER-ED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
Ef el & ==l 60,000 60,000 0
= 30,000
Al 30,000
306 £ = 60,000 0 60,000
= 30,000
Al 30,000
01 £¢= 60,000 0 60,000
Ok 2=+==H XN&=3 60,000
< 30,000
Al 30,000
SZIEAIE 2te| 688,790 733,608 AN44,818
2ZANE 2g 109,758 114,852 25,094
101 @124 8] 40,026 77,060 A37,034
04 JIZtN 22 XS+ 40,026 77,060 A 37,034
OBEA HEXCIYHE 22 22X B 40,026
oJlzs 54,960% = 28 * 260 28,580
oxFgsdg 54,9608 » 2% » 52¢ 5,716
Sa=PUES 54,9602 » 2% » 11 1,210
o ZHALH| 5,000& = 2& = 252& 2,520
o ZF Iyl 500,000& * 2& = 23 2,000
201 LBt2 S| 37,140 22,000 15,140
01 At 22l bl 14,340 4,200 10,140
OAFANE28 223 7
300,000& = 32 » 1204 E 10,800
OZZANL2E AHl 60,0008 ~ 18 » 50 3,540
02 3224l 22,800 17,800 5,000
OZFANESE AMEZH KX HI
2,000,000 * 39H 2 6,000
OZFANE2E dJIQ=s  1,200,000& » 123 14,400
OZFANE2E d=22= 200,000& » 128 2,400
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01 =LHO I 2,592 2,592 0
OAFANE 28 g2 =4
81,0008 = 4F * 83 2,592
401 AIEHIZ 2 CHHI 30,000 10,000 20,000
01 A€ dI 30,000 10,000 20,000
Oz8x NeXeldtd z32el 3 HAxd 30,000
SClEHEIIT ¥ 2223 29 2al 579,032 577,566 1,466
101 @l 28] 345,132 220,466 124,666
04 DIt 22 XS+ 345,132 220,466 124,666
OSclEHEna ¥ QEctl3a Alg2e ¢ &
284l JI2tH 220 2+ 94,128




SEHB Y
o TE
2EIIBAIY 22

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
PR 73,280 * 6YH x 129 56,719
oxFaY 73,2803 * 6 x 25 10,992
ocg X4 73,2803 * 6YH » 62 2,639
ox5dIZ2fLE 109,920& » 69 » 26 17,148
o 2tAlY| 5,000& * 6H * 121 3,630
o H&AEF Y| 500,000& * 6Y = 13 3,000
OECEENT & @22t0t3a et & =27
A2 JI2H 22X B 251,004
ocllza 73,2803 * 16Y * 129 151,250
oFgxY 73,2803 * 169 = 25¢ 29,312
ocE ¢ 73,2803 x 16Y * 6Y 7,035
ocsdZRH 109,920 * 16 * 26 45,727
o 2HAH| 5,000& * 169 » 121 9,680
o YA S| 500,000 = 16¥ * 13 8,000
201 et A | 178,900 125,900 53,000
01 AFR2t2l Yl 87,100 35,700 51,400
OSCEEDT & 2223 89 A2E 2
2! 2,000,000 = 1 24,000
ORo&dH AlAE X 22
1,000,000& = 12& 12,000
ONM&E &Y Xz 500,000& * 2CH * 103 10,000
Os2d)] ot L X2 Ul ==
200,000 * 2CH = 12& 4,800
OsLD| HIIZEAN =2 150,000& * 2CH 300
O&I|Iotd22 H&Hx=+=  500,000& = 12& 6,000
S| ™S HA =2 1,000
OSclg9AM ¥ EX 2Uis 20,000
O2zctita HYURX ZFME AIS 2 9,000
02 324l 91,800 90,200 1,600
o&IIea 6,000,000& * 12& 72,000
(OE === 200,000& = 128 2,400
OFSE =HE 400,000 * 62 2,400
OSclEeHEDa ¥ 2z2tia H=H|
1,000,000& = 5& 5,000
OSsCEENTA & @223 Ad RAES 10,000
206 M = Hl 5,000 1,200 3,800
01 X2 bl 5,000 1,200 3,800
OSsScelEEeEla & 223 22, HlE F 5,000
401 Al HI L 2 0HHI 50,000 60,000 A 10,000
01 A& HI 50,000 60,000 A 10,000
OECIEEDT IIH =4 Z2At 30,000
OL2Zlta =XE BotsS AX SAt 20,000
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